
1/8Form 1763 (03.18) ©SENSOR

SENSOReng.com  I  Sampling Systems 281-902-3924                                                     RAM Sampling System RSS

N RSS 
RAM SAMPLING SYSTEM

These instructions provide information for installation, 
operation and maintenance of the RAM Sampling 
System (RSS). 

The SENSOR RAM Sample System (RSS) is designed 
to attach directly to the side of a tank or pipeline without 
the need to utilize, or create, a pressure differential to 
take a sample. The RSS uses a Piston Type Ram Sample 
Valve which works very well in high viscosity or high 
particulate applications which are prone to plugging. As 
the valve is rotated the piston draws back and allows 
the liquid to flow through to the sample port. When the 
Piston Ram Valve is rotated to close, it pushes back any 
remaining product to ensure no cross contamination 
between samples and zero dead volume.

  General Instructions

Design and 
specifications are 
subject to change 

without notice. 

For latest revision, go to 
SENSOReng.com

Table of Contents
Installation.................................................... 2
Operating Procedures............................. 3
Dimensions................................................... 4
Parts List........................................................ 5
Needle Specs and Replacement....... 6
Container Data Sheet............................. 7
Container Information Chart............... 8



2/8 Form 1763 (03.18) ©SENSOR

RSS RAM Sampling System                                               SENSOReng.com  I  Sampling Systems 281-902-3924

Installation

� Visually inspect unit for broken or missing components.

� Install plate on pipe stand with clamps as provided.
                           
�	Check all fittings; tighten if needed using  9/16” open-end wrench for 1/4”
                                                                      7/8” open-end wrench for 1/2”

			   DO NOT OVER TIGHTEN

� Before connecting Sample In, Sample Out, Vent or N2 Supply lines;  Make sure: 		       	
  		  SAMPLE valve is CLOSED
		  N2 SUPPLY valve is CLOSED

� Connect SAMPLE IN and SAMPLE OUT lines as labeled.

� Connect VENT and N2 SUPPLY as labeled on fittings.

� System is ready for sampling.

INSTALLATION - START UP PROCEDURES 
BBSS SAMPLE SYSTEM 

 

SAMPLE
OUT

9

0

3
6

12

15

SAMPLE
OUT

SAMPLE
IN

SAMPLING SYSTEMS

PROCEDURES
OPERATING

NEEDLE
PURGE

.5

1.5

2

SAMPLING SYSTEMS
ENGINEERED SOLUTIONS

TO OPEN SAMPLE
VALVE TURN CCW

TO STOP SAMPLE
TURN CW

SAMPLING SYSTEMS
HOUSTON, TEXAS

BACK VIEW

TOP VIEW

FRONT VIEW

SAMPLE
IN

SAMPLE
OUT

VENT

N2
SUPPLY

 
 
 
 1) Visually inspect unit for broken or missing components. 
 
 2) Install plate on pipe stand with clamps as provided. 
 
3) Check all fittings; tighten if needed using 9/16" open-end wrench for 1/4" 

                                                                    7/8” open-end wrench for 1/2" 
                              DO NOT OVER TIGHTEN! 

 
4)   Before connecting Sample In, Sample Out, Vent or N2 Supply lines;  Make sure:          

    SAMPLE valve is CLOSED 
N2 SUPPLY valve is CLOSED 

   
 5) Connect SAMPLE IN and SAMPLE OUT lines as labeled. 
 
6)   Connect VENT and N2 SUPPLY as labeled on fittings. 
 
 7) System is ready for sampling. 
 
  
 
 
 
 
 
 



3/8Form 1763 (03.18) ©SENSOR

SENSOReng.com  I  Sampling Systems 281-902-3924                                                     RAM Sampling System RSS

Operating Procedures

�	 Verify: 		 SAMPLE valve is CLOSED
			   SAMPLE BOTTLE IN SHROUD 

� 	Observe rotameter for proper indicated flow. (.5-1.0 SCFH)

                 		    DO NOT CONTINUE WITHOUT NEEDLE PURGE FLOW

�	 Turn SAMPLE valve CCW to OPEN and observe liquid flowing into sample bottle.

� 	CLOSE SAMPLE valve when desired amount of sample is in bottle.

� 	Remove sample bottle by opening strap and pulling bottle out of shroud.

� 	Install new sample bottle into shroud until snug, then close strap.

	  	  DO NOT ROTATE BOTTLE WHEN IN SHROUD



4/8 Form 1763 (03.18) ©SENSOR

RSS RAM Sampling System                                               SENSOReng.com  I  Sampling Systems 281-902-3924

Dimension Drawings



5/8Form 1763 (03.18) ©SENSOR

SENSOReng.com  I  Sampling Systems 281-902-3924                                                     RAM Sampling System RSS

Spare Parts

Dimensions are for 
reference only. 

Contact the factory for 
certified drawings.



6/8 Form 1763 (03.18) ©SENSOR

RSS RAM Sampling System                                               SENSOReng.com  I  Sampling Systems 281-902-3924

Needle Specs

�  Loosen jam nut on shroud assembly.

�  Unscrew shroud assembly and remove.

�  Remove the (3) set screws (#6-32 SHCS) with 7/64” allen wrench from needle 		
	 retainer, remove retainer.

�  Remove process needle by pulling it down, gently holding the barrel of the needle.

�  Remove vent needle the same way as process needle.

�  Make sure new process needle has o-ring installed on needle barrel, then install 		
	 process needle in proper port.

�  Inspect new vent needle for 		
	 o-ring, then install

�  Replace needle retainer and (3) 	
	 set screws.

�  Replace shroud by screwing in 		
	 onto the needle adapter, then 
	 tighten jam nut.

Needle Replacement

 
NEEDLE REPLACEMENT 

#6-32 Set Screw

#6-32 Set Screw

Vent Needle

Process Needle

#6-32 Set Screw

#6-32 Set Screw

Vent Needle

Process Needle

#6-32 Set Screw

#6-32 Set Screw

#6-32 Set Screws (3)

Vent Needle Process Neelde

Needle Retainer

Needle Adapter

 
1. Loosen jam nut on shroud assembly. 

 
2. Unscrew shroud assembly and remove. 

 
3. Remove the (3) set screws (#6-32 SHCS) with 7/64” allen wrench from needle retainer, remove 

retainer. 
4 

4. Remove process by pulling needle down, holding the barrel of the needle. 
 

5. Remove vent needle. 
 

6. Make sure new process needle has o-ring installed on needle barrel, then install process needle in 
proper port. 
 

7. Inspect new vent needle for o-ring, then install. 
 

8. Replace needle retainer and (3) set screws. 
 

9. Replace shroud by screwing in onto the needle adapter, then tighten jam nut. 
 



7/8Form 1763 (03.18) ©SENSOR

SENSOReng.com  I  Sampling Systems 281-902-3924                                                     RAM Sampling System RSS

Container Data Sheet



8/8 Form 1763 (03.18) ©SENSOR

RSS RAM Sampling System                                               SENSOReng.com  I  Sampling Systems 281-902-3924

Sampling Systems | Houston, TX | 281-902-3924

©SENSOR is owned and operated by SOR Controls Group

REGIONAL OFFICES

China

SOR China | Beijing, China

+86 (10) 5820 8767 | Fax +86 (10) 58 20 8770

Middle East

SOR Measurement & Control Equipment Trading DMCC | Dubai, UAE

+971 4 278 9632 | Fax +971 4 279 8399

SENSOReng.com
N

Container Information Chart


